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""| Ass3Gauss.m E—h
H = J—L[b,:}—u—k[b,.}—[[ﬁ[b Lyl 1 RIL 20} -D"_
9= B(6, )= (A6, ) (B(6, 1) A(1,1))*A(1,:))) A
2 = B3, 1)=(R(S, )1 (B3, 2Y B(2:2YY*R(2,::%))
ki A(4,:)=(A(4, )= ((A(2,2)/8(2,2))*A(2,:))) =
T2 LS, t )= (RS, ) - ([R5, 2)/R(2,2))*R(2,:))) 5=
ddi= A:E,:}fIA:E,:}—IIA:E,E};’A:E,E}}*A:E,:}}} —
14 — ?—it&,:}ft?—it&,:}—tEAE&,E}EHEE,E}}*AIE,:}}} =
15 = B(5, ) (A(5, :)=((A(5,2)/A(3,3))*A (3, :))) s
T = LB, )= (B(B, ) - ((B(B,3)/A(3,3))*N(3,2))) =
gifii= A:E,:}fIA:E,:}—IIA:E,&};’A:&,&}}*A:&,:}}} =
25 = AEE,:}fEAEE,:}—EE?—itﬁ,&}fﬁt&,&}}*ﬁt&,:}}} _—
18 = BA(E, :)=(A(6, ) ((A(E,5)/A(5,5))*A(5,:))) e
20 - T&=L(6,7) /A(6,8) —
21 — T5=(A(5,7)-A(5,6) *T6) /A(5,5) -
22 — T4=((A(4,7))—(A(4,6)*T6) - (A(4,5)*T5)) /A (4,4) -
23 = T3=((A(2,7))-(A(2,6)*TE) - (A(2,5)*T5) - (A(3,4)*T4)) /A (3, 3) B
oL T2=((B(2,7))—(B(2,86)*TE)—(A(2,5)*T5)—(A(2,4)*T4) - (A(2,3)*T3))/n(2,2)
i e TI=((A(1,T))—(A{1,6)*T6)— (A(1,5)*T5)—(A(1,4)*T4)—(A(1,3)*T3)-(A(1,2)*T2))/2(1,1) W
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